Format for Advertisement in Website

Notice for appointment of Regular / Rural Retail Outlet Dealerships

(Name of OMC) proposes to appoint Retail Outlet dealers in Himachal Pradesh (state), as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimat ed monthly Sales Potenti al #	Category	Type of Site*	Minimun of the si	n Dimension (ir te (in Sq. M.). *	n M.)/Area	Finance to be a by the applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
-		3	Regular / Rural	MS+HSD in Kls	SC SC CC-1 SC CC-2 SC PH ST ST CC-1 ST CC-2 ST PH OBC OBC CC-1 OBC CC-2	CC / DC / CFS	Fronta	Depth	Area	Estimated working capital requirement for operation of RO	Estimate d fund required for develop ment of infrastru cture at RO	Draw of Lots / Bidding		12
					OBC PH									
					OPEN CC 1									
					OPEN CC-1									
					OPEN CC-2									
			DECLUAD	170	OPEN PH	CEC	20	20	400			Danie Of Lete	0	
1	With In 3 KM of KiariGhat On NH-05 With In 3 KM of Ghandal On NH-88	SOLAN	REGULAR	170	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
2	(NEW NH-205)	SHIMLA	REGULAR	178	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3

3	Nogli to Dutnagar on NH- 05	SHIMLA	REGULAR	167	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
4	Within 2 KM of Jia on NH-21(new NH-03)	KULLU	Regular	151	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
5	WITHIN 5 KMS from Baruhi Chowk on Baruhi AMB Road on NH 503 Extn	UNA	Regular	160	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
6	Sissu, NH-21	LAHAUL AND SPITI	Regular	162	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
7	Dhami, Block Mashobara, Tehsil – Shimla	SHIMLA	RURAL	48	sc	CFS	20	20	400	0	0	Draw Of Lots	0	2
8	Village Ladhi on MDR 75	Solan	RURAL	49	sc	CFS	20	20	400	0	0	Draw Of Lots	0	2
9	Neri, Block: Hamirpur, Tehsil : Hamirpur	HAMIRPUR	RURAL	48	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2
10	With In 03 KM of Khairi Bridge Near NHPC Township	СНАМВА	RURAL	50	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2
11	With in 02 KM of Haripur on-Dehra- Jawali Road MDR - 80	KANGRA	RURAL	60	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2
12	Within 5 Kms. Kumarsain on NH -22 (New NH 05)	SHIMLA	REGULAR	168	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
13	With In 4 Km Of Saraswati Nagar On NH-707	SHIMLA	REGULAR	165	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
14	Auhar On Bilaspur Bypass	BILASPUR	REGULAR	160	ОВС	DC	20	20	400	25	75	Draw Of Lots	15	4
15	With In 2 KM of Namhol On NH-88 (New NH-205)	BILASPUR	REGULAR	156	OBC PH	DC	20	20	400	25	75	Draw Of Lots	15	4
16	Solan ByPass on NH- 22	Solan	REGULAR	173	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
17	From Victory Tunnel to Dhalli By Pass Chowk via IGMC	SHIMLA	REGULAR	155	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
18	Bilaspur Within municipal Limit	BILASPUR	REGULAR	168	Open CC 1	DC	20	20	400	25	45	Draw Of Lots	15	5
19	Ghumarwin Within municipal Limit	BILASPUR	REGULAR	167	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
20	Between KM Stone 166 TO 169 ON NH-05	SHIMLA	REGULAR	161	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
21	Between Panthaghati and Dhalli On NH-5 (Old NH No 22)	SHIMLA	REGULAR	162	sc	CFS	20	20	400	0	0	Draw Of Lots	0	3
22	Between Kandaghat and Chambaghat on NH 5 (Old NH No. 22)	Solan	REGULAR	154	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
23	Within 3KM of Narkanda on NH 22	SHIMLA	REGULAR	170	ОВС	DC	20	20	400	25	75	Draw Of Lots	15	4
24	3 KM FROM Brahampukhar towards Nauni ,Shimla-Bilaspur Road ,NH- 205	BILASPUR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
25	Between Tuti Kandi Bus Stand and Khalini Chowk on NH-05	SHIMLA	REGULAR	165	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
26	Khalini Chowk To Vikas nagar On NH-05	SHIMLA	REGULAR	158	Open CC 2	DC	20	20	400	25		Draw Of Lots		5

27	Within 2 Kms of Dharampur Railway Station on NH 5 (Old NH No. 22)	Solan	REGULAR	175	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
28	Losar on Kaza Tandi Road On NH- 505	LAHAUL AND SPITI	REGULAR	150	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
29	With In 3 KM of Tapri On NH-22	KINNAUR	REGULAR	154	sc	CFS	20	20	400	0	0	Draw Of Lots	0	3
30	Within 3 Kms of Jatog Cantt. on old NH 88 NH-205	SHIMLA	REGULAR	166	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
31	With In 3 KM OF Ghanhatti On NH- 205	SHIMLA	REGULAR	162	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
32	Sainj to Luhri bridge,On NH-305	SHIMLA	REGULAR	159	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
33	Between Kumarhatti to Solan on NH- 05	Solan	REGULAR	156	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
34	With In 3 KM OF Gumma on Theog - Kotkhai- Jubbal Road on NH705	SHIMLA	REGULAR	158	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
35	Between ISBT Tuti kandi and Sankat Mochan on NH 05	SHIMLA	REGULAR	164	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
36	Sawarghat within 3 KM on NH	BILASPUR	REGULAR	153	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
37	Within 2 Kms. Of Kumarhatti chowk on NH. 05	Solan	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
38	Solan within Municipal Limits	Solan	REGULAR	160	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
39	On Solan Rajgarh Road within 5 Kms of Solan	Solan	REGULAR	159	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
40	Shimla City With In Municipal Limit	SHIMLA	REGULAR	120	ОВС	DC	20	20	400	25	45	Draw Of Lots	15	4
41	Rohru Town With In Municipal Limit	SHIMLA	REGULAR	110	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
42	RAMPUR Town With In Municipal Limit	SHIMLA	REGULAR	105	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
43	2 Km From Sainj Chowk Towards Rampur On NH-205	SHIMLA	REGULAR	157	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
44	2 KM FROM Ghagus Pulia BERI on NH-154	BILASPUR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
45	With In 2 KM Of Gumma On NH-707	SHIMLA	REGULAR	152	SC CC1	CFS	20	20	400	0	0	Draw Of Lots	0	3
46	With In 2 KM Of Police Station OF Darlaghat On NH-205	SOLAN	REGULAR	158	Open CC 1	DC	20	20	400	25	75	Draw Of Lots	15	5
47	Between KM Stone 206 & 208 on NH-05	SHIMLA	REGULAR	154	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
48	Within 2 Kms. Of Kumarhatti chowk towards Nahan on NH. 907A	SOLAN	REGULAR	160	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
49	Between KM stone 186 to 188 on NH 05	SHIMLA	REGULAR	158	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
50	With In 5 KM of Rampur on NH 05	SHIMLA	REGULAR	155	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
51	Between Bhiuli Pul and HRTC workshop Road on NH 21 (new 03)	MANDI	Regular	154	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
52	Between Talogi and Ram Shila on NH 21 (new NH -03)	KULLU	Regular	155	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
53	Between Ram Shila and Gammon	KULLU	Regular	150	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5

	Bridge on NH-21(new NH-03)													
54	Between Bhashing and Babeli on NH-21(new NH-03)	KULLU	Regular	152	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
55	Within 3 KM of Jarad, on New NH-03	KULLU	Regular	163	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
56	Within 3 Km of Suebhra on NH- 21(new NH-03)	KULLU	Regular	152	ОВС	DC	20	20	400	25	75	Draw Of Lots	15	4
57	Within 3 Km of Ani on NH-305 District Kullu State HP	KULLU	Regular	154	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
58	Within 3 Kms of Manglor, on NH-305, Dist. Mandi State HP	KULLU	Regular	152	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
59	Awah Devi, NH-70 Awah Devi- Sarkaghat Road	KULLU	Regular	152	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
60	Nimla, NH-305, Between Luhri-Anni Road	KULLU	Regular	157	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
61	Haripur, Aut-Luhari Road, NH-305	KULLU	Regular	152	SC CC 1	CFS	20	20	400	0	0	Draw Of Lots	0	3
62	Keylong on Manali Leh Highway	LAHAUL AND SPITI	Regular	152	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
63	Hamirpur to Rangas on NH 3,	HAMIRPUR	Regular	154	ОВС	DC	20	20	400	25	75	Draw Of Lots	15	4
64	Within 3 kms of tauni devi market on NH 3	HAMIRPUR	Regular	151	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
65	Between Km Stone 247 to 249 on NH 21.	KULLU	Regular	154	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
66	Between Km Stone 263 to 265 on NH 21.	KULLU	Regular	156	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
67	Within 3 kms of Sunder Nagar Bus Stand On NH 154,	MANDI	Regular	162	Open CC 1	DC	20	20	400	25	75	Draw Of Lots	15	5
68	Katrain on either side on newly constructed double lane on New NH-03,	KULLU	Regular	153	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
69	Within 2 Km of Dadour either side on four lane on NH-21(New NH-03)	MANDI	Regular	152	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
70	Within 2 Km of Nag Chalah either side on four lane on NH-21(NH-03)	MANDI	Regular	168	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
71	Within 2 Km of Bharmoti Betweet Nadaun-Manpul on NH-70(new NH- 03)	HAMIRPUR	Regular	154	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
72	Within 3 Km Slapper on NH-21(new NH-03)	MANDI	Regular	165	ОВС	DC	20	20	400	25	75	Draw Of Lots	15	4
73	Within 3 Km of Clauth on NH-21(new NH-3)	KULLU	Regular	165	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
74	Within 3 Km of Aaloo Ground on NH-21(new NH-03)	KULLU	Regular	165	OBC CC 1	DC	20	20	400	25		Draw Of Lots		4
75	Within 2 Km of 16 Mile on NH-21 (new NH-03)	KULLU	Regular	165	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
76	Patlikuhal on either side of newly constructed double lane on new NH-03	KULLU	Regular	165	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
77	Between Dobbi Brdige and Dwara on	KULLU	Regular	165	Open CC 1	DC	20	20	400	25	75	Draw Of Lots	15	5

	new NH-03													
78	within 2 Km of Sarhkar on Hamirpur- Kot road on NH-70(New NH-03)	HAMIRPUR	Regular	165	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
79	Between Km Stone 172 to 174 on Right Hand Side at Sundernagar on NH 21	MANDI	Regular	165	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
80	Dehar on new Four Lane on NH-21	MANDI	Regular	165	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
81	Jogindernagar within Municipal Limits	MANDI	Regular	102	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
82	Kullu within Municipal Limits	KULLU	Regular	112	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
83	Sundarnagar within Municipal Limits	MANDI	Regular	116	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
84	Mandi within Municipal Limits	MANDI	Regular	122	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
85	Sujanpur within Municipal Limits	HAMIRPUR	Regular	108	Open CC 2	DC	20	20	400	25	45	Draw Of Lots		5
86	Hamirpur within municipal limits	HAMIRPUR	Regular	123	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
87	Nadaun, within Municipal Limits of Nadaun	HAMIRPUR	Regular	102	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
88	With 3 Km of Mair on NH-103	HAMIRPUR	Regular	154	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
89	Within 6 KMS from Nalagarh Bus Stand towards Baddi (new NH 105) [LHS]	Solan	Regular	200	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
90	Within 6 KMS from Nalagarh Bus Stand towards Baddi (new NH 105) [RHS]	Solan	Regular	200	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
91	Mehatpur to Una Bus Stand on NH 503 Extn. (LHS)	UNA	Regular	160	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
92	Mehatpur to Una Bus Stand on NH 503 Extn. (RHS)	UNA	Regular	160	OBC CC 1	DC	20	20	400	25		Draw Of Lots		4
93	Within 5 KMS from Amb Chowk on Hamirpur Road (NH-3) RHS	UNA	Regular	160	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
94	Within 3 KMS from Amb Chowk on Hamirpur Road (NH-3) LHS	UNA	Regular	160	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
95	WITHIN 5 KMS from Baruhi Chowk on Baruhi Una Road (NH503 Ext)	UNA	Regular	160	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
96	Within 5 KM from Bombay Picnic Spot on NH503 towards Chintpurni	UNA	Regular	155	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
97	Within 3 KM from Bombay Picnic Spot on NH503 towards Mubarakpur	UNA	Regular	155	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
98	Within 4 Kms from Nalagarh Bus Stand on Nalagarh- Swarghat Road (new NH105)	Solan	Regular	150	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
99	In or Within 2 Kms of Village Thaneekpura on Bharwain Mubarikpur Road NH 503	UNA	Regular	150	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
100	Gagret to himachal Boundary on Hoshiarpur Road (NH3)	UNA	Regular	160	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5

101	Bankhandi to HP boundary on NH503A Hoshiarpur Road	UNA	Regular	170	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
102	Within 2 Kms. Of Village Thanakalan on Una to Bangana Road (New NH 503A)	UNA	Regular	170	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
103	KM stone 48 to 51 on NH105 Pinjore- Swarghat Road (LHS)	Solan	Regular	170	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
104	Amb to Mubarikpur on NH 3	UNA	Regular	170	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
105	Gagret to Mubarikpur on NH-3 (RHS)	UNA	Regular	170	SC CC 1	CFS	20	20	400	0	0	Draw Of Lots	0	3
106	Within 3 Kms from Raj Industries towards Baddi on NH105	Solan	Regular	200	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
107	Within 2 Kms of Village Dolowal on Nalagarh-Swarghart Road on new NH 105 (RHS)	Solan	Regular	170	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
108	Una WML	UNA	Regular	170	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
109	Baddi WML	Solan	Regular	170	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
110	Parwanoo WML	Solan	Regular	170	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
111	Nalagarh WML	Solan	Regular	170	OBC CC 1	DC	20	20	400	25	45	Draw Of Lots		4
112	Within 2 Kms. Of Kanwar Hospital on Old Hoshiarpur Road (WML)	UNA	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
113	Una to Kotla Khurd on Una-Takka Road (WML)	UNA	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
114	UNA to PEER NIGAHA TEMPLE Block & Tehsil - Una (WML)	UNA	Regular	100	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
115	Santokhgarh WML on Tahliwal- Santokgarh-Ajouli Road	UNA	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
116	Mehatpur WML on Mehatpur to Santokhgarh Road	UNA	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw Of Lots	15	5
117	Daulatpur WML on Daulatpur - Mubarikpur Road	UNA	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
118	Daulatpur WML on Daulatpur - Talwara Road	UNA	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
119	Gagret WML on Daulatpur-Gagret- Pandoga Road	UNA	Regular	100	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
120	Tahliwal WML on Tahliwal -Jaijon Road	UNA	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
121	Tahliwal WML on Tahliwal - Santokhgarh Road	UNA	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
122	With in 03 KM of Chamukha on NH - 3 (Amb-Nadaun road)	KANGRA	Regular	150	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
123	Between Mile stone 54 - 57 on NH - 154 Jassur	KANGRA	Regular	150	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
124	Between Himachal Boundary at Toki Barrier and Shiv Mandir ,Damtal on Jallandher- Pathankot NH 1A on LHS	KANGRA	Regular	150	OPEN	DC	35	45	1575	25	75	Draw Of Lots	15	5

125	Baijnath on NH – 154	KANGRA	Regular	150	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
126	Witn In 03 KM of Daulatpur Towards Kangra on NH - 88 (New NH-503)	KANGRA	Regular	150	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
127	With in 03 KM From Bankhandl on NH - 503	KANGRA	Regular	150	OPEN PH	DC	20	20	400	25	75	Draw Of Lots	15	5
128	Hardaspura Chowk (Chamunda road crossing) to Rajera (On bharmour Road) (NH-154A)	СНАМВА	Regular	150	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
129	Betwwen Balu Bridge to DIET Saru on Chamba -Pathankot Road NH- 154A)	СНАМВА	Regular	150	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
130	With in 02 KM of Rait on NH-154	KANGRA	Regular	150	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
131	With In 02 KM Kotla on NH-154	KANGRA	Regular	150	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
132	With in 02 KM of Khappar Nalla (On Jawalamukhi- Ranital Road) on NH- 303	KANGRA	Regular	150	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
133	With in 02 KM of Matour (On Matour To Kangra Road) on NH-303	KANGRA	Regular	150	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
134	With in 02 KM from Sant Hyundai Ghurkari on NH-154	KANGRA	Regular	150	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
135	Within 03 kms of ISBT Dharamshala on MDR -45	KANGRA	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
136	Upto 2 Km from Tanda Medical College towards Kangra byass	KANGRA	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw Of Lots	15	5
137	Palampur to SSB Chowk via Nagri - Dharamshala Road	KANGRA	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
138	Vill- SherLohara , PO -Bankhandi on NH503 (Ranital -Dehra Road)	KANGRA	Regular	150	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
139	With in 03 KM of Gaggal Airport on NH-154 on RHS from Pathankot - Gaggal Road	KANGRA	Regular	150	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
140	Taruwala - Amarkot Road(within 4kms from Taruwala towards sataun) NH 707	SIRMAUR	Regular	170	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
141	Paonta Sahib Within Municipal Limits	SIRMAUR	Regular	180	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
142	Rajgarh Within Municipal Limits	SIRMAUR	Regular	100	ОВС	DC	20	20	400	25	45	Draw Of Lots	15	4
143	Nahan- Within Municipal Limits	SIRMAUR	Regular	110	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
144	Between Badripur Chowk and Taruwala, NH 707, PAONTA - HATHKOTI ROAD, WML	SIRMAUR	Regular	180	Open	DC	20	20	400	25	75	Draw Of Lots	15	5
145	Mauja Shubh Khera, Block and tehsil Paonta Sahib, WML	SIRMAUR	Regular	170	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
146	Within 2 kms of BSNL Exchange Manpura on Lodhimjara Industrial area road	Solan	Regular	165	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
147	Within 3 kms from HP toll Barrier near Masjid-E-Aysha towards pinjore	Solan	Regular	170	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5

	on NH 105													
148	Between Paonta Sahib to HP toll barrier on new NH 907 towards Yamuna Nagar	SIRMAUR	Regular	160	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
149	Between Km stone 49 to 52 on NH 72 (New NH 7)	SIRMAUR	Regular	165	Open	DC	20	20	400	25	75	Draw Of Lots	15	5
150	Jabli to Sanwara (New NH 5) (LHS)	Solan	Regular	160	SC PH	CFS	20	20	400	0	0	Draw Of Lots	0	3
151	Parwanoo to Jabli on new NH 5 (RHS)	Solan	Regular	160	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
152	Jabli to Dharampur on new NH 5 (RHS)	Solan	Regular	160	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
153	KUDDU on NH 707	SHIMLA	Regular	150	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
154	Lathiani on NH 503 A	UNA	Regular	155	OBC	DC	20	20	400	25	75	Draw Of Lots	15	4
155	Chandpur, Block & Tehsil- Sadar	Bilaspur	RURAL	49	ОВС	DC	20	20	400	12	30	Draw Of Lots		3
156	Nankheri Block- Nankheri , Tehsil- Rampur	SHIMLA	RURAL	50	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2
157	Lamba-Khatal to runtari khad (seema), Block and Tehsil Rohru	SHIMLA	RURAL	46	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
158	Baroha, Block & Tehsil Jhandutta	Bilaspur	RURAL	47	OBC	DC	20	20	400	12	30	Draw Of Lots		3
159	KALHOG BLOCK & TEHSIL KANDAGHAT	Solan	RURAL	50	Open CC 1	DC	20	20	400	12	30	Draw Of Lots	5	4
160	DIDU BLOCK- KUNIHAR; TEHSIL ARKI	Solan	RURAL	48	OBC	DC	20	20	400	12	30	Draw Of Lots		3
161	NAINA DEVI TEHSIL & BLOCK- SWARGHAT	BILASPUR	RURAL	46	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
162	MALARI BLOCK & TEHSIL- JHANDUTTA	BILASPUR	RURAL	47	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2
163	KASARU, BLOCK AND TEHSIL GHUMARWIN	BILASPUR	RURAL	49	OBC	DC	20	20	400	12	30	Draw Of Lots		3
164	BETWEEN TARA DEVI AND MEHLI	SHIMLA	RURAL	50	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
165	DIYAWNDA BLOCK & TEHSIL- KANDAGHAT	Solan	RURAL	51	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2
166	JAROL, BLOCK - THANADAR & TEHSIL- KUMARSAIN	SHIMLA	RURAL	47	OBC	DC	20	20	400	12	30	Draw Of Lots		3
167	Bagain, Block - jubbal Tehsil- Kotkhai	SHIMLA	RURAL	48	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
168	KOTGARH, BLOCK & TEHSIL- KUMARSAIN	SHIMLA	RURAL	50	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
169	Kansakoti, Block & Tehsil - Rohru	SHIMLA	RURAL	49	SC CC1	CFS	20	20	400	0	0	Draw Of Lots	0	2
170	Berthin, Block & Tehsil - Jhanduta	Bilaspur	RURAL	47	OBC	DC	20	20	400	12	30	Draw Of Lots		3
171	Bharoli Kalan, Block & Tehsil - Jhanduta	Bilaspur	RURAL	46	Open CC-1	DC	20	20	400	12	30	Draw Of Lots	5	4
172	Village Ghuwanal ,Block -Sawarghat Tehsil - Shri Naina Devi	Bilaspur	RURAL	51	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
173	Devgarh Rohru Bye Pass Block &	SHIMLA	RURAL	48	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2

	Tehsil - Rohru													
174	Samoh, Tehsil Jhandutta	Bilaspur	RURAL	52	OBC	DC	20	20	400	12	30	Draw Of Lots		3
175	Village Kot On MDR 8	Solan	RURAL	50	OBC	DC	20	20	400	12	30	Draw Of Lots		3
176	WITH IN 1 KM OF WAKNAGHAT JAYPEE UNIVERSITY ROAD	Solan	RURAL	47	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
177	village subhathu on Dharmapur Subhathu Solan Road	Solan	RURAL	49	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
178	Between Kumarhatti to Barog on Solan Road	Solan	RURAL	51	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
179	Between Kumarhatti Ochaghat on Ochaghat Yashwant Nagar Nagar Road	Solan	RURAL	48	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
180	With in 3 KMS of Kunihar Bus Stand on MDR	Solan	RURAL	51	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
181	Village Reota	SOlan	RURAL	50	Open PH	DC	20	20	400	12	30	Draw Of Lots	5	4
182	Kasauli Dhrampur Road Block Dhrampur VIA PINEGROVE SCHOOL	Solan	RURAL	53	OBC	DC	20	20	400	12	30	Draw Of Lots		3
183	Sanawar	Solan	RURAL	48	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2
184	Naldehra on MDR 76	SHIMLA	RURAL	47	OBC CC 1	DC	20	20	400	12	30	Draw Of Lots		3
185	Nerwa on MDR 74, Block Chopal, Tehsil Nerwa	SHIMLA	RURAL	49	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
186	Within 4 Kms from Sainj On MDR 74, Block And Tehsil Theog	SHIMLA	RURAL	50	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
187	Jathia Devi (Kyargi), MDR 77	SHIMLA	RURAL	46	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2
188	Vill. Patlikuhal Block Naggar, Tehsil Manali	KULLU	RURAL	46	ОВС	DC	20	20	400	12	30	Draw Of Lots		3
189	Within 3 kms of Nagar Bus Stand On Kullu- Naggar- Manali Road,	KULLU	RURAL	48	ST	CFS	20	20	400	0	0	Draw Of Lots	0	2
190	KAIS, BLOCK-NAGAR, TEHSIL- KULLU	KULLU	RURAL	52	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
191	Vill. Katrain	KULLU	RURAL	54	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
192	Tattapani, Block Karsog, Tehsil Karsog	MANDI	RURAL	48	ОВС	DC	20	20	400	12	30	Draw Of Lots	5	3
193	Between Kansa and Baggi on Ner Chowk Chail Chowk Road	MANDI	RURAL	72	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
194	Gora, block Balh, Mohal Gora Gagal, Tehsil Balh	MANDI	RURAL	48	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
195	Kandha, Block Karsog, Mohal Kandha, Tehsil Karsog, Sub Tehsil Pangna	MANDI	RURAL	48	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2
196	Tihra on Dharmpur-Awah Devi Road	MANDI	RURAL	46	OBC	DC	20	20	400	12	30	Draw Of Lots	5	3
197	Khailag on Dharampur-Sarkaghat Road,on MDR	MANDI	RURAL	48	OPEN CC 1	DC	20	20	400	12	30	Draw Of Lots	5	4

198	Vill. Basni, P.O. Chail chowk, Block Gohar, tehsil Nachan	MANDI	RURAL	52	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
199	within 3 kms of Vill. Mundhakar on MDR 84	HAMIRPUR	RURAL	48	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2
200	Galore Block : Nadaun, Tehsil : Nadaun	HAMIRPUR	RURAL	46	OBC	DC	20	20	400	12	30	Draw Of Lots	5	3
201	Kadhriana	HAMIRPUR	RURAL	48	SC CC 1	CFS	20	20	400	0	0	Draw Of Lots	0	2
202	Lambloo, Tehsil :Hamirpur	HAMIRPUR	RURAL	48	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
203	Nalti, Tehsil : Hamirpur	HAMIRPUR	RURAL	48	Open CC 2	DC	20	20	400	12	30	Draw Of Lots	5	4
204	Pansai, Block : Nadaun, Tehsil: Nadaun	HAMIRPUR	RURAL	46	ОВС	DC	20	20	400	12	30	Draw Of Lots	5	3
205	Tal, Block : Bhoranj,Tehsil Bhoranj	HAMIRPUR	RURAL	48	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
206	Bailag on Bhareri –Tatahar Road	HAMIRPUR	RURAL	48	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
207	Dhaneta Block: Nadaun Tehsil: Nadaun	HAMIRPUR	RURAL	52	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
208	Choru, Nadaun-Sujanpur Road, MDR 36 Tehsil Nadaun	HAMIRPUR	RURAL	48	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
209	Dharog	HAMIRPUR	RURAL	48	OBC	DC	20	20	400	12	30	Draw Of Lots	5	3
210	Jihan on MDR 36	HAMIRPUR	RURAL	54	OBC CC 1	DC	20	20	400	12	30	Draw Of Lots	5	3
211	Within 3 Kms of Vill. Jahu on MDR	HAMIRPUR	RURAL	57	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
212	Between Giroh and Bandal Chowk on Awah Devi Tihra Road, tehsil Hamirpur	HAMIRPUR	RURAL	48	SC PH	CFS	20	20	400	0	0	Draw Of Lots	0	2
213	Jangal Beri on Sujanpur Sandhol Road	HAMIRPUR	RURAL	48	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2
214	Vill. Chamarda (Bajuri), Block and tehsil Hamirpur	HAMIRPUR	RURAL	49	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
215	Balute to Pandher, MDR 35	HAMIRPUR	RURAL	55	ОВС	DC	20	20	400	12	30	Draw Of Lots	5	3
216	Within 3 kms. Of Machiyal on MDR 79	MANDI	RURAL	54	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
217	TALIAR, BLOCK & TEHSIL - SADAR MDR 26	MANDI	RURAL	54	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2
218	Sunjanpur Doli, Sujanpur, on MDR 86	HAMIRPUR	RURAL	55	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
219	Nihari, Block Nihar, Tehsil Nihari	MANDI	RURAL	48	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
220	Patlandar, Block Sujanpur, Tehsil Sujanpur	HAMIRPUR	RURAL	47	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
221	Village Ghanala	MANDI	RURAL	48	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
222	Village Amroh	HAMIRPUR	RURAL	48	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
223	Village Dhalwan	MANDI	RURAL	48	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2
224	In and within 3 kms of Village Maganpura on Nalagarh-Ghanauli-	Solan	RURAL	130	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4

	Ropar Road													
225	In and Within 3 kms of Village Pekhubela on Una Santokhgarh Road	UNA	RURAL	80	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
226	3Kms from HP border on Una Jaijon Road towards Haroli. Block & Tehsil Haroli	UNA	RURAL	80	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
227	Mauja Thara, Block Tehsil- Haroli	UNA	RURAL	60	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2
228	Mohal & Mauja - Dharamshal Mahanta, Block - Amb, Sub Tehsil- Bharwain, Tehsil- Amb	UNA	RURAL	45	OBC	DC	20	20	400	12	30	Draw Of Lots	5	3
229	Mehatpur Santokhgarh Road Block & Tehsil - Una (Within 2 KMS of IOCL Bottling Plant	UNA	RURAL	105	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
230	Village - Nangal jarialan on gagret- ghanari- dalautpur Road Block Gagret Tehsil - Ghanari	UNA	RURAL	110	OBC PH	DC	20	20	400	12	30	Draw Of Lots	5	3
231	With in 03 KM from Killar Bus Stand.	СНАМВА	RURAL	70	ST	CFS	20	20	400	0	0	Draw Of Lots	0	2
232	Parwat Mohal , Vill-Dal (On Lahru to Tanuhatti- MDR-83)	СНАМВА	RURAL	60	ST	CFS	20	20	400	0	0	Draw Of Lots	0	2
233	With in 03 KM from Vill-Hatli Towards Sihunta on Sihunta -Draman Road MDR -87	СНАМВА	RURAL	60	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
234	With in 02 KM of Sihunta on Shahpur - Chowari Road (MDR-87)	СНАМВА	RURAL	70	ST	CFS	20	20	400	0	0	Draw Of Lots	0	2
235	Badhukhar-Block &Teh -Indora , Kangra	KANGRA	RURAL	60	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
236	Barota-Teh & Block- Fatehpur , Kangra	KANGRA	RURAL	60	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2
237	Muhal -Samkar ,Mauza -Dhameta Block& Teh-Fatehpur	KANGRA	RURAL	70	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
238	Gopalpur ,Block -Bhawarna, Tehsil -Palampur , Kangra	KANGRA	RURAL	70	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
239	Khundiyan , Block &Teh- Dehra Gopipur, Kangra	KANGRA	RURAL	70	OBC	DC	20	20	400	12	30	Draw Of Lots	5	3
240	02 Km From Nagni Chowk towards Maranda Sai on MDR -86	KANGRA	RURAL	70	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
241	Vill Thakur Dwara on Brota -Milwan Road	KANGRA	RURAL	60	Open CC 1	DC	20	20	400	12	30	Draw Of Lots	5	4
242	02 KM from Bhawarna Chowk on Khaira Road	KANGRA	RURAL	70	ОВС	DC	20	20	400	12	30	Draw Of Lots	5	3
243	VILL- Bhadwal , PO Mataur , Teh Kangra	KANGRA	RURAL	50	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
244	Dehan on MDR- 86 (Hamirpur- Sujanpur-Maranda Road)	KANGRA	RURAL	70	OBC	DC	20	20	400	12	30	Draw Of Lots	5	3
245	with in 02 KM of Ice Factory at Kundli har on Jawalaji to Dehra MDR -80	KANGRA	RURAL	70	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2

246	With in 03 KM from Lanj on MDR -88	KANGRA	RURAL	70	ST	CFS	20	20	400	0	0	Draw Of Lots	0	2
247	Talwar -Jhunga Devi on Alampur - Harshpatan Road	KANGRA	RURAL	60	SC	CFS	20	20	400	0	0	Draw Of Lots	0	2
248	With In 02 KM Chamunda Devi temple on MDR -48	KANGRA	RURAL	70	OBC	DC	20	20	400	12	30	Draw Of Lots	5	3
249	With in 03 KM Himachal Public School Paragpur on MDR 46	KANGRA	RURAL	60	OBC	DC	20	20	400	12	30	Draw Of Lots	5	3
250	03 KM from Terrace Pharmaceutical on PongDam Fatehpur -Jassur Road on MDR -82	KANGRA	RURAL	60	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
251	Gadiara , Moja-Saliana on MDR 78	KANGRA	RURAL	70	OBC	DC	20	20	400	12	30	Draw Of Lots	5	3
252	Village Karori on MDR 85	СНАМВА	RURAL	65	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
253	Village : On Khadri, Tehsil & Block Dadhau	SIRMAUR	RURAL	55	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
254	Between Jammniwala –Kundion Tehsil Paonta Sahib, District Sirmour	SIRMAUR	RURAL	60	OBC	DC	20	20	400	12	30	Draw Of Lots	5	3
255	Vill. Kharotian on Haripurdhar- Renukaji Road, Block Sangrah, Tehsil HaripurDhar	SIRMAUR	RURAL	60	OPEN	DC	20	20	400	12	30	Draw Of Lots	5	4
256	Jepla On MDR 77	Solan	RURAL	52	OBC	DC	20	20	400	12	30	Draw Of Lots	6	3

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation in the Corporation Offices the addresses mentioned below. is also hosted Website (www.bharatpetroleum.in/www.hindustanpetroleum.com/www.iocl.com/ www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

^{*} The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.